ARGUMENTS FOR PROTECTIONISM
· Infant industry argument (explain, include graph)
There is an economic argument in support of infant industry if the social benefits (comparative advantage, e.g. abundant labour may give LDCs a potential advantage in textile industry; increased knowledge/technology; improved workforce) are greater than the losses (deadweight losses due to higher prices and misallocation of resources)

Problems: 
· Efforts of a developing country to diversify (similar to infant industry argument)
Many developing countries are heavily dependent on exports of ______ commodities - leaving them very exposed to changes in international commodity prices. Since the prices of these goods have fallen continuously in the last 50 years, developing countries have seen a decrease in their terms of trade, i.e. they have to sell increasing amounts of raw materials and agricultural goods to buy any given amount of imports.  If they want to diversify and develop new export revenue streams, they may need to protect these new industries from full exposure to international competition for a while. 
· Protection of employment 
Explain:

This argument has been used to protect workers in US steel, car and cotton industries and EU sugar and ship-building industries.


Pros:

· Temporary relief from debilitating foreign competition in order to grant time for domestic goods and factor markets to clear and reallocate resources to other industries

Cons:

· Effect on consumers: (explain)
· Might save jobs in certain industries but jobs will be lost in the import sector, where people employed in wholesaling, retailing and servicing imported goods

· In order to import one must export so if US imposes trade barriers against China in order to protect their cotton workers, then this limits China’s ability to buy Caterpillar bulldozers from the US – increasing unemployment in this other industry

· Source of government revenue - where protectionism takes the form of a ______, apart from reducing demand for imports via the impact of a higher price, this will also raise revenue for the government. The revenue raising function will be most successful where the demand for imports is price _________. 
· Strategic arguments - a particular product or industry might be of strategic importance to a country and protectionism may be justified on the grounds that it is keeping alive an industry which plays a vital part in the economy perhaps because of social, political or military reasons. 
Examples: 

· Means to overcome a balance of payments disequilibrium 

Explain:
· Anti-dumping, i.e. to prevent dumping

· What does ‘dumping’ mean in relation to trade?

· Why would countries pursue a policy of dumping?

· Note: Protection against dumping is one of the few forms of protectionism that WTO rules allow… but the use of ‘anti-dumping’ claims as an excuse to restrict trade is likely to be curtailed

ARGUMENTS AGAINST PROTECTIONISM

· Inefficiency of resource allocation

· Import controls cushion producer inefficiency – in this sense, import controls act as a “barrier to entry” in a market, e.g. if tariffs remain in the long-term, the infant industry may never ‘grow up’; the wrong industries may be protected.  In short, resources will not be allocated to their most efficient uses.
· Subsidies to domestic industries – very costly plus seriously distort production and reallocate resources to less efficient producers, e.g. total cotton subsidies in the US in 2001=US$3.4billion… this went to 25000 farmers giving them an average total income of US$136000 – 4 times the average income in the US!!  It costs 68 cents to produce a bale of cotton in the US – 3 times what it would cost in Burkina Faso
· Other costs: administrative, enforcement and regulation costs

· Increased prices of goods and services to consumers 

· Draw a graph showing the effect of a tariff on consumer prices and shade the areas which represent welfare loss
· Read p422 (higher prices) and explain ‘upstream’ and ‘downstream’ effects
· Costs of long-run reliance on protectionist methods

Many ‘temporary’ protectionist measures become long-lived and virtually permanent.
· When domestic firms come to rely on protectionism, the propensity to improve productivity is diminished (disincentive costs).
· By protecting ‘sunset’ or declining industries, the government is simply delaying a process of resource reallocation at great cost to society in terms of alternative output.

· Cost effect of protected imports on export competitiveness
‘A tax on Nippon Steel is a tax on General Motors!’  Explain how a tax on Japanese steel could affect the export of US cars.
· Threat of retaliation 

· any protectionist measure tends to be instantly met with some form of retaliation - will tend to mean that any success in protecting against imports leads to a fall in exports when the retaliation starts to bite 
· World multiplier effects from reduction in trade

If a country successfully protects against imports, this will reduce the level of imports. However, one country's imports are another country's exports and this reduction in exports will lead to a multiplied effect. This may even reduce demand for exports from the country that raised the protectionist measures in the first place, but will certainly reduce world output. 
